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X & FHEEE (A) RESE (B) = % (A—-B) fi& £
A
EEBTMS 2,045, 341, 000 2,045, 341, 000 -
R ER RS 90,072,000 1| 117,222, 000 A 27,150,000
SEULA 160, 000, 000 165, 632, 816 A 5,632,816 | 2itBADIRALFEE LEISBRALL ST
HESRFI AR IR A 34,818, 000 55, 814, 254 A 20,996,254 [EIIESSORALTEELESRRALL
it 2,330, 231, 000 2,384,010, 070 A 53,779,070
X
LHER 727,867,000 1| 738,898, 758 A 11,031,758
MR 90,072,000 1| 117,222, 000 A 27,150,000
SHER 155, 200, 000 150, 752, 727 4,447,273 |SEEROXHNSTFEETFE>10
AR 1,053,561,000 31| 1,001, 673, 206 A 38,112, 206
—REER 303,531,000 1| 275,001, 701 28,529, 209
it 2,330, 231, 000 2,373, 548, 302 A 43,317,392
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